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Exercise 12.2

Q.1. Find the area of a sector of a circle with radius 6 cm if angle of the sector is 60°.
Sol. Here,r=6cm

0 =60°
. _ b 2
. Using, the Area of a sector = ﬁxm
We have, @
Area of the sector withr = 6 cm and 6 = 60° ‘
A B
=%x?x8x5 cm? =-27—2x cm? = -1372cm2-

Q.2. Find the area of a quadrant of a circle whose circumference is 22 cm.
Sol. Let radius of the circle=r
s21r =22
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Q.3. The length of the minute hand of a clock is 14 cm. Find the area swept by the minute
hand in 5 minutes.
Sol. [Length of minute hand] = [radius of the circle]

=r=14cm

0 Angle swept by the minute hand in 60 minutes = 360°

= Angle swept by the minute hand in 5 minutes = —=C x5 =30°
Now, area of the sector with r= 14 cm and 6 = 30°
%xnrz =%x%x14x14 cm? = 11);140m2 = 1‘;—A’cmz
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Thus, the required area swept by the minute hand by 5 minutes = TC'"2~

Q.4. Achord of a circle of radius 10 cm subtends a right angle at the centre. Find the area of
the corresponding (i) minor segment (ii) major sector.
Sol. Length of the radius (r) = 10 cm

Sector angle 8 =90°

Area of the sector with 8 =90° and r =10 cm

=0 10x10x2 2 em? = 1314 emy = 2L em? = 785 cm?
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Now,
(i) Area of the minor segment
= [Area of minor sector] — [Area of rt. AAOB]

1
=[78.5cm? —[5 x 10 x 10 cm?] =78.5 cm?2—50 cm2 = 28.5 cm2.

(ii) Area of major segment
= [Area of the circle] — [Area of the minor segment]

=mr?—78.5 cm?

_ 314

=00

Q.5. Inacircle of radius 21 cm, an arc subtends an angle of 60° at the centre. Find:
(i) the length of the arc

(ii) area of the sector formed by the arc

x 10 x 10 —78.5] cm?2 = (314 —78.5) cm?2 = 2355 cm2.

(iii) area of the segment formed by the corresponding chord
Sol. Here, radius =21 cm and 6 = 60°

(i) Circumference of the circle = 2 ir @‘
=2x§x21cm=2x22x3cm=132cm i
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- Length of APB = 8 x132 cm
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= Ex 132cm =22 cm

(ii) Area of the sector with sector angle 60°

_ 60° 2. 6 3D > 10 P 2
= 3600xz:r _360x - x21x21ecm“ =11x21cm“ =231cm

(iii) Area of the segment APQ
= [Area of the sector AOB] — [Area of AAOB] (1)
In AAOB, OA=0B=21cm
~/ZA=2£B=60° [6£0 =60°]
=AOB is an equilateral A,
~AB=21cm
Draw OM L AB such that

oM . .. 3 V3
a_sm 60 —T:OM—21x7cm

NowareaofaAOAB=-% x AB x OM=% x 21 x 21 xg cm?
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From (1) and (2), we have:

cm2

M3, 43\ 5
Area of segment = [231 cm?] - [Tc‘“ } =(231‘T]Cm -




